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Run 4311 quartetwise, posHQ: Beam DH

Laser ON Entries: 22608 Entries: 10301 aami_Iach_packo

__ Mean: F.2392 «/- 00022 Mean: 5.98531 +/- 0.0DES 1{]3':'.1
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Run 4311 quartetwise, asym0Osub: Beam ON
— LEEE'- GN Enires. 22608 Entries: 10501
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Run 4311 quartetwise, negHO: Beam DIN

—— Laser ON Entries: 22608 Entries: 10301 aomi._lach_nagha
| Mean: 7.2191 +- 0.0022 Mean: 6.9852 +- 0.0054 10301
- Laser OFF Std Dev: 0.3288 +- 0.0015 | Std Dev: 0.8484 +/- 0.0059 6.985
| oo 0.8484
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-------- Histogram Vars

Positive Hel (ON): 7.239204 +/- 0.002194
Negative Hel (ON): 7.219120 +/- 0.002187
Positive Hel (OFF): 6.985143 +/- 0.008355
Negative Hel (OFF): 6.985233 +/- 0.008359
-------- Sums and Diffs

On Diff: 0.020084 +/- 0.001183

Off Diff: -0.000090 +/- 0.001598
On Sum: 14.458324 +/- 0.004218
Off Sum: 13.970375 +/- 0.016638
-------- Asymmetries
On Asym: 41.159091 +/- 2.824385 (ppt)
Off Asym: -0.184210 +/- -3.274888 (ppt)
-------- Bkgd Subtraction

BkSub Sum: 0.487949 +/- 0.017164
BkSub Asym: 41.343302 +/- 4.324586 (ppt)
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Run 4311 quartetwise, posHO vs time
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Run 4311 quartetwise, asymQ0sub vs time
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Run 4311 quartetwise, negHO vs time
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Run 4311 quartetwise, bcm vs tim
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